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& 14,671
= 76,233
11 IIEtE &2 90,904 70,940 19,964
CHIEXAIE 48,904
—FoO0lMES=2 08 =&=2 Llal24
48,904,000& 48,904
& 14,671
= 34,233
ORdiotMES=S2 st oIl 24
3,000,000& x4H 12,000
ORMOIMESEZ 28 &2 O24
30,000,000& 30,000
OFMSE ToH Ol YA 126,000 94,080 31,920
= 38,000
< 11,400
= 76,600
402 Q12+ X 20| & 126,000 94,080 31,920
= 38,000
T 11,400
= 76,600
01 DIZtAI2AMEEX 126,000 94,080 31,920




SH: BHAMD
M Ie o MERH FES
Sl Kol o MEEY 25 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZHIEx= At 76,000
—OldS=2 28 s&H= Lol XNAIE £X
76,000,000& 76,000
= 38,000
< 11,400
s 26,600
OMESEZ 28t s&= Ol X AL
50,000,000& 50,000
A= MHSsSE JIsEZAY 400,000 0 400,000
Xl 200,000
< 60,000
[ 140,000
401 Al HIZ 201 8] 400,000 0 400,000
Xl 200,000
< 60,000
e 140,000
01 A& HI 397,120 0 397,120
OXNSLHELE 3 H AL 397,120
— s HHSSE JIsE2ZAY
397,120,000 397,120
X 200,000
< 60,000
s 137,120
03 A& 2 THHI 2,880 0 2,880
OXNGLSEI AN 2,880
— 3= dHSsE JIsE2ZAE
400,000, 000% *0.72/100 2,880
FYs MHZSA 29 2 52,944 38,020 14,924
101 @124 dl 19,504 10,980 8,524
4 JI2ZHHZ22XEES 19,504 10,980 8,524
OdYd=s MEHISA N2 U2 19,504
—Jlzs 48,2403 x2H «150 14,472
- =L 48,2403 x2H »252 2,412
— g 48,2403 x2H «5 483
—4d2E= 17,367,000 *12.3% 2,137
201 Let24E] 7,840 9,840 A 2,000
01 At 22l 4,000 4,000 0
OHUADE U ANSBE 7Y
300,000& 10 3,000
OBYs MEHZY L 5T 22 BEY AN
500& *2,000% 1,000
02 2324l 840 840 0
OF2ds HMEHIE ZEAE dIIe=
70,0002 1201 & 840
03 & Ar2 I 3,000 5,000 A 2,000




SN HEAMD
M Ie o MERH FES
Sl Kol o MEEY 25 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFd=s MHESSE 22 ANd/23 21
3,000,000& 3,000
206 M= Hl 2,000 0 2,000
01 M= 4l 2,000 0 2,000
s MEIZE +2 HIETY
20,000 100 2,000
301 g4 = 3,600 7,200 A 3,600
09 SAAHIEA S 3,600 7,200 A 3,600
OSZMEHHE A =& 40,000 x3B +5L «6F 3,600
401 Al HIZ 2018 20,000 10,000 10,000
01 A& HI 20,000 10,000 10,000
OF2dE MHZSA 2d2c 10,000, 000& 10,000
OZA= M3 302 Edl
10,000, 000& 10,000
StE MY Dl B3ALY 107,857 119,286 A 11,429
= 72,000
s 35,857
101 @124l 102,857 114,286 A 11,429
= 72,000
[ia 30,857
04 D12t Z22EE = 102,857 114,286 A 11,429
O=HIEXZ ALY 102,857
— St MY Dl FEHAY 102,857
-JlEs 48,2403 x 17«90 73,808
= 51,660
s 22,148
ERgsy 48,2402 %172+ 162 13,122
= 9,190
[ia 3,932
- 2E 0 3,0003 17«90 4,590
= 3,220
s 1,370
JHEE = 11,337,000& 11,337
= 7,930
[ia 3,407
206 M= Hl 5,000 5,000 0
01 MHZ 8l 5,000 5,000 0
OBEMYI| BBEES L 21D 7Y
5,000,000& 5,000
= 8% 29 125,481 185,796 A 60,315
101 @124 dl 115,881 97,396 18,485
04 DIt 22 XREES 115,881 97,396 18,485
O=8Z BAX JIZH2ZXNSE> 115,881




SN HEAMD
M Ie o MERH FES
Sl Kol o MEEY 25 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—Jles 48,2403 x23Y x552 61,024
- T4 48,2403 x23H x9 9,986
— 3= 48,2403 x23Y x2 2,220
—52Z2RE 48,2403 x23H 182 +1.5 29,958
— 428 = 103, 188,000& *12.3% 12,693
201 Let24E] 6,600 61,600 A 55,000
01 At 22l 5,000 60,000 A 55,000
Oz &l 5,000
— g M2 SEHI(2,8H)
5,000,000& 5,000
02 =24l 1,600 1,600 0
OBJIIE&A4E MIL3 200,000 x40 28 1,600
202 O4dl 3,000 2,000 1,000
01 = LH 4 Hi 3,000 2,000 1,000
Ozg=g% NcEE & 22 22
3,000,000& 3,000
~Zeyd ne| 3,680,853 4,990, 122 ~1,309,269
2 450,000
< 5,000
s 3,225,853
=B & 3,680,853 4,990, 122 A 1,309,269
= 450,000
< 5,000
s 3,225,853
SSHEY R 230,116 184,224 45,892
< 5,000
s 225,116
201 Let24d] 28,900 28,520 380
01 At 22l 4,400 4,580 A 180
Oget=gH| 2,300
— 333 B =8
13,000& =100 m* 1,300
—StHY HLAR2s gE2S(2EY) ME
500& *2,000% 1,000
Oz &l 2,100,000 2,100
02 =24l 24,500 23,940 560
O=ss&a IS 15,500, 000& 15,500
O2saTY Hot=ER= 9,000, 000& 9,000
202 044l 6,480 5,184 1,296
01 2U 01 b 6.480 5,184 1,296
O==stda 2eld8d dR=& 6,480,000& 6,480
206 M= Hl 17,960 16,060 1,900




SN BEAMD
3y szogn 2
chel: sEEL CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
01 & bl 17,960 16,060 1,900
O &A AMEE L HFAZ2E 2
14,500,000& 14,500
ONLEESHA ANMES 1,960,000& 1,960
OUs0IsSstEA AMEE 1,500, 000& 1,500
307 QI2t0| ™ 97,776 89,460 8,316
05 QIZt9 &2 97,776 89,460 8,316
O=2&g&a ozt 97,776
—NHEAS(HA)UHH 77,0002 «24 01 A %123] 22,176
— S &EA 22 RE
300,000 2100 A+ 12& 75,600
401 Al EHI L 2O 79,000 45,000 34,000
= 5,000
= 74,000
01 Al&H| 78,460 44,676 33,784
CHIEXZAY 19,000
—oHOIAFF= R &SI E A 2SI A
19,000,000 19,000
& 5,000
= 14,000
OSEs&Ea ANERANES 59,460
— 2t0I3t &4 WX 29,676,000& 29,676
—ANERINES 19,784 ,000& 19,784
— LG EA ARD 4
5,000,000& *x2J4 A~ 10,000
03 Al& 201 Y] 540 324 216
CHIEXAY 0
—OHOAIFEXIESIEA SIS AFY o0& 0
OZ2Z&A ANERIES 540
— 2t0Ist &4 WX 30,000,000 *1.08/100 324
—ANERXNES 20,000,000& *1.08/100 216
FMoZELHANE 22 58,223 76,630 £ 18,407
101 @121l 11,703 10,830 873
04 JIZtHI22XNHEE 11,703 10,830 873
OXB2S4XHelAld gae o2 11,703
—-JlE2a 48,2403 18 x 156 7,526
—FE5edx 48,240& 1 »48L 2,316
— 2 48,240 x1H x 12 579
—40f BE &= 10,421,000& *x12.3% 1,282
201 L2 | 20,320 19,600 720
01 AtR 22l bl 2,920 2,800 120
Odet=gH| 2,920




SN BHSAMD
3y szogn 2
chel: sEEL CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
—XoEHelAd sAael 288 7
148,000& 108 1,480
~EIIOE HY U 242
120,000& =128 1,440
02 8323l 17,400 16,800 600
OXelaEXelAld M3
1,450,000& 128 17,400
206 M=l 1,200 1,200 0
01 =8l 1,200 1,200 0
OxBssXelAd 43572
240,000& x5 1,200
401 Al Bl 28I 25,000 45,000 220,000
01 A& HI 25,000 44,514 A 19,514
OXSES2La=HMelAE HdEEE, 82, A3
g s B 25,000,000& 25,000
=HelAlE 22l 2,308,294 2,338,394 230,100
201 Let24dy] 473,530 493,630 A 20,100
01 At 22/l 12,730 12,430 300
Oget==EH| 10,400
—2RHoAL E2 RS HE
1,000, 000& *13| 1,000
—IIEEL HE2H EES ME
3,000,000& x13l 3,000
—JIISMESSIH 243H M83K 222 ¢
9 M 1,000, 000& *13] 1,000
—OtEE =EZA =2 500,000& *23] 1,000
—AHRANE 2ANFY 2BAN 242
700,000& »23] 1,400
—2HENE 22Y HIAN 242
3,000,000& =13 3,000
OtEIIZANE Xots= =Z2AA =2
1,700,000& =13l 1,700
O= &l 630,000& 630
02 3322l 460,800 481,200 A 20,400
OZZ23ZLHA 460,800
— =X HIIKe3 6,600,000& x12& 79,200
—JIEEs SSH2UANE RS
31,800,000& x12& 381,600
202 O4dl 3,888 3,888 0
01 = LH YI 3,888 3,888 0
O=HelAld 2| gRFH 3,888,000 3,888
206 M= Hl 684,640 684,640 0
01 =8l 684,640 684,640 0




SH: BHAMD
Bu: 2o B2
ool 2B HBL (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ox=HMelANE (B )tE2R) A5, 8H S 2
2 55,970,000& 1204 & 671,640
OomgsJll =2H s ¥ 13,000, 000& 13,000
207 RO ] 35,000 0 35,000
01 A7 39l 35,000 0 35,000
OBEINZAL Q2ASIE FHUE S
35,000, 000& 35,000
307 21201 A 871,236 871,236 0
05 RIZt2IE = 871,236 871,236 0
Ox=XclAlg Q&= 871,236,000 871,236
401 AIEHI L 20HEI 230,000 275,000 A 45,000
01 A& tl 227,732 272,030 A 44,298
ON=E2adelAlE sX2el 207,732
—JIEEs 82X & 4220 =4
19,784,000 19,784
~IIE2L NASH Y AITHM S 24
29,676,000 29,676
~JlE2h OISHI Y £F0ANI S &4
39,568,000 39,568
—JIEER 20, QLEL M|, ELEHY
J g =4 39,568,000 39,568
~JtESL SYMOILY L BEZHOY S
=i 29,676,000 29,676
—JlERL EHAH Y WASH S 24
29,676,000 29,676
—IIHEER A8 JJ RAES
19,784,000 19,784
O2=HMelAld sXl2el 20,000
— 22 H2AE OISEE 2 =FUNMI =
>H 10,000, 000& 10,000
— 22 H2AE BJs=s8 3 =4
10,000, 000& 10,000
03 Al S THHI 2,268 2,970 AT702
ON=E2adeAlE sX2el 2,268
—JIEEs EEEXM2I & Y22 =4
20,000,000& *1.08/100 216
~JIEER HUSH ¥ ATYH S 4
30,000,000& *1.08/100 324
—JlEEL 0IBEI o £EANI| S 24
40,000,000& *1.08/100 432
—JIEER &30, QLEL M|, 2LEHY
s =8 0,000, 000& *1.08/100 432
—IIEER SYMOLH L dEMOE S
=i 30,000,000& *1.08/100 324
—JtERE A L YALY S 24
30,000,000& *1.08/100 324
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SH: BHAMD
Bu: 2o B2
ool 2B HBL (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
—JIEER 2782 I RAE=>
20,000,000& *1.08/100 216
405 XHoHF S HI 10,000 10,000 0
01 XA 2 S FH S| 10,000 10,000 0
O=HMelAl& JIXTH 2 10,000, 000& 10,000
gEZ 22 74,220 144,874 AT0,654
201 L2l 2,920 3,732 AB12
02 =224l 2,920 3,732 AB12
OE2s0lXY =ZHA 60,000& x133] 780
OARY 2HSFANY 2TAA
250,000& *43] 1,000
OFHF=ZL2EALD & =HASAIE =ZHHA
114,000& =102/ 1,140
206 = Hl 2,400 0 2,400
01 M2 4l 2,400 0 2,400
O=H=Z223 At ZMEH 2
120,000& *20H 2,400
207 A RO H| 68,900 141,142 AT2,242
01 289 68,900 141,142 AT2,242
O20158 & @S2l 0/dEI Y
52,250,000& 52,250
OHEAZAE 2LEHEEY 16,650, 000& 16,650
HEQLENMZ AL 900,000 1,200,000 A.300,000
= 450,000
s 450,000
401 AIEHIZ 28I 900,000 1,200,000 A.300,000
= 450,000
i 450,000
01 A& HI 893,520 1,195,680 A 302,160
O=BIEXZ ALY 893,520
—EdZEAN Ogdls ot ZdALY
496,400,000 496,400
= 250,000
e 246,400
—OI2¢d=CX HELLIMZALY
397,120,000& 397,120
= 200,000
[ 197,120
03 AIE 2 0H bl 6,480 4,320 2,160
O=HIEXZ AL 6,480
—SEZEAMN D8 E 2Zet ZEAY
500,000,000& *0.72/100 3,600
— 2= HIEE ML ALY
400,000,000& *0.72/100 2,880

_20_




SH: BHAMD
Bu: 2o B2
ool 2B HBL (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
SE2SX HE=SLXHEALEAE B 110,000 60,000 50,000
401 AlEHIZL 201 Y| 110,000 60,000 50,000
01 A& H| 109, 100 59,568 49,532
SSCX HESLXHEAAE SN2 109, 100
—Ol2ZHE=SY M2 AE HE=21 EH|
99,100,000 99,100
—S2HESUHZANE SFA2
10,000,000 10,000
03 Al 20| 900 432 468
Os3HA HE=TLHEAIE S22 900
—Of2EH=SYLH2AIE H=2H A
100,000,000 *0.90/100 900
AE . QM 22| 163,640 63,636 100,004
= 53,538
o 17,640
= 92,462
QMo 2| 163,640 63,636 100,004
= 53,538
o=} 17,640
= 92,462
AZOoLM 22 J|BtE A 26,960 29,960 A 3,000
201 et 18,940 18,940 0
01 AP 2t 2] H| 18,940 18,940 0
OgtL2Y| 15,300
—SlMBE £ S HA R
4,000 x40024 1,600
—AESE Y E22 S &
50,000 5004 &~ 2,500
—NEAY M2 EE22 HEH
10,0002 1000 & 1,000
—AES oY AMEE Y
20,000 *1500H 2~ 3,000
— YA =EAE EBS MEH
10,0002 #2000 & 2,000
— g0l AME ot EEZES M
3, 000& 50074 1,500
— 28 SEAE EE22 HMZE 5,000 *300H4 1,500
—HMARE 2 220,000& =103/ 2,200
OF=1=1:] 3,640,000& 3,640
206 M = Hl 6,120 6,120 0
01 X2 H| 6,120 6,120 0
OUAHIAE KA
3,000 %2024 61 x123] 4,320
ORYEsSAIAE HEAE HZ 120,000 *15J0 £ 1,800




<

n0

Kio

Hl w

1,700
1,700
1,700

180

180
180

244

284

284

AN40

H3r
Wikd
RIS

1,900
1,900

22,124

7,824
7,824
14,300
14,300

5,600

2,000
2,000
1,680
1,680

1,920
1,920

2,432

1,512

1,512

920

Off &t 24

1,900
1,900

700
1,200

23,824

7,824
7,824
7,824
16,000
16,000
4,000
12,000

5,780
2,000
2,000
2,000
2,000
1,680
1,680
1,680

2,100
2,100
2,100

2,676

fir

1,338
440
898

1,796

t

898
898
1,796
1,796

fi

1

1,796

898
898
880
440
440
880

i

mH

rr

H

=}

3

2| x4

=

[und
o

300,000

%100

e

301

Al
ok

H

<4
31
)
Al
Ho

|

e

|

=
=
[
o

=

[

e

e

7,824,000
12,000,000

1,000,000

II A2
LT o o

)

| =
=

2FA
S =

3

b

=
=

=S
T o

O

01 SLHO I
11 JIEL

202 o4 Hl

Al
20

Ok
Kio

[und

2 *2000H &

e

=

10,000

tel i

01 At 2
202 04l
01 SLHOYI

2

1,680,000

<ar

al
iy

<1
31

Ok

M0

50,0003 x6F «7

b

11 JIE

<r

M0

0o

ok

n0

KJ
ol
o

<r

O=HIE XA

ok

4
o)
Ho

<

|

=

o

1,796,000

301

AN 40

920

- 22 -

NIEtE2d=




o o o o o o o o o
(o] (o] [ee] o o o
© © © S S S
n0 3 3 8
KIo
E|
=)
o o o o o o o o o o o o o
Al Al Al [0))] [®)) ()] ()] [0)) o o o o
Ye) Ye) o) [aV] [aV] [a\] © © < < [aV] N
2] 2] o) o |lo | |o|o — | = < | <
N N eV} — | — — | —
H3r
uilEd!
Pdk=
o o O O o O O o O O o o o O O o O O O o O O O o o o O O O o o o o o o o o o o o
[ee] Q0 < < o O O o O O o o o O O o O O O o O O O o o o O O O (o)) (o)) [®)) D [©)) (o)) o o o o o
© O ¥ F |8 NS NS T N NNl oo oo oo oo o S oo |N|IN N[ o © | ¥ | S NN
< AN AN < AN AN <t < < AN AN o O wun w o O v W o o o O v w (<] © © o o (e] — — — < <t
ar
<
=3
mr m m 1| W W W
o o o o
o o o o
o o o o
< < < <
or o o o =
o o D o
Mo < o © <
oY < 3l o o —
; = - -
* 30
ol - 0
M. 0 T
il 0H el
= = &
. K —
—_ o =
—_— n
[ o =
iof Z 3o =
5 |5 = @ = m 5 =
o K no K = m K = oAIT T |3 o =]
- H <0 0 I ) pdl or o 0 80 | <F o Rl
= = iy H & S F D3 iy 00 | A 3 ) Kt
w0 oJ oo I ~ YR N ol |0k O | T | ok
R0 |O ol ~ O no = al O o ol | O |3 |(ir 3l
. — — =) N~ [To) R0 — | = al | — ™
o — — o o o o o o o
X ™ ) <] 30 I oy I3y

o

0B
RO

Jl=&dl

0

_23_




SN B M
MM HHSAAH (SAAMI)
el J|=2A EER-ED
5 = SiE|
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| | | PEEEEEEE 4,200,000 4,200
RS (SRS M) 144,780 105, 164 39,616
WEHAHK = 109,780 105, 164 4,616
JIEIS HAEE 2 109,780 105, 164 4,616
701 JIEISI HERME2 109,780 105, 164 4,616
01 JIEIEI HEE2 109,780 105, 164 4,616
OsSZARAELHANGELSH B2 109,780
— SO HAZSLHAER 29
109,780,000 109,780
SEXE 35,000 0 35,000
CEETEE 35,000 0 35,000
802 BHst2 DI Ef 35,000 0 35,000
01 2DEx2gs 35,000 0 35,000
02015 2o HalAla . BAY
35,000,000 35,000
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